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Question No. 1

The percent uncertainty in the measurementm=5.1+0.1gis
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question No. 2
tandard of:

The frequency Of radiation of cesium atoms IS used to give the s

meter
kilogram
inch

second




The smallest reading in a protractor IS 1°. You me

asured an angle of 50¢ Consmermg significant figures, €0S(50) should be writte
' 0.643

064
0.6427876097
0.6428
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Question No. 4

nd, During this lifetime, the heart
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\ instrument's ability to give measurements that are
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Comm

The lifetime of a muon is 10 sec 5. Thi
e 2 seconds. This equals, (1 Mega 108 g 9
1 micro (1) = 10° nano): l } e il

0.001 Ms
0.01ms
1ps
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QB

The only set of units among the following that is fully?)rmsh System is

foot, pound, second
centimeter, pound, seconc

inch, mile, kilometer

foot, gram, second
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Question No. 1

Two forces are: (F1 = 130 N, west) & (F2 = 115 N, east). Their resultant (R) is:

245 N, west
15 N, east
245 N, east

15 N, west









orrect if n equal

161 5 0 lengty A {5 an e nd Vs o volume, the € juation A @V s dimen jonally ¢
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Question No. 24

Which of the following is a derived SI quantity?

length
electric current
force

temperature
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Question No. 8

Ifr 1s a length and t is time, the equation

1s dimensionally correct if k has the dimension of

LT

TBL-I
 Ph e
TL-?
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Question No

and 1 yard (yd) = 3 fi, how many yards are there in 360 in.?
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Questton No. 11
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Question No. 8

The dimensions of (mass/speed) is

MLAT

ML?
ML2T
ML
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Question No. 1

Two forces are: (F1 = 130 N, west) & (F2 = 115 N, east). Their resultant (R) is:

245 N, west
15 N, east
245 N, east

15 N, west
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Question No. 18

In the scientific notation, 36900 is written as

.;.OQ X ]05
36.9 x 103
.;‘(\‘) X lo:

0»3(\\) N l 04
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Question No. 21

Ifthe diameter of a human hair is 100 micrometers, this equals to
(Hint: 1 mm = 1000 micrometers)

0.01 mm
0.5 mm
1mm

0.1 mm
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* Question No. 16

| You sokd a car for SAR 93000. In order-of-magnitude this price IS about
I

U SAR10°

U sAR10¢

| SAR 106

 SAR 10°

ey
201 1 T

] St @




Question No. 19

Which of the following is NOT an S| unit?

meter
foot
* mole

candela







lake is approximately circular, with a 200-m diameter, (diameter = 2r 4
adivs™), and an average depth h = 5 m. The volume of water in this lake can be es
5 (V=2 1? )

Y15 % 100
o O R
¥ 15 % 108 m’
LS %100 m!

0
\_@X\g




| Question No. 11

| If aroad has 80 km/h speed-imit (4 ) 1s), the maximum speed a car can go without exceeding the limit (=3 ;55) is:
|

20 m/s
' 30 m/s
' 10 m/s
' 40 m/s
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9 with a calculator 1. Taking significant figures into act

gives 11.11111111
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Answereg 25
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Question No. 8

The top of a hittis 980 m b

102 m
10" iy
100 m
10° iy
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Question No. 2

A lake with approximately circular surface has an average radius r = 0.5 km and average depth h = 10 m.
The volume V = 7ir?h of this lake in liters (L) is approximately:

101 L
101°L
10°L
102 L
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Juestion No. 18

A distance of 0.05 km is equal to
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v 1s a speed and t 1s tin._, the equation

limensionally correct if k has the dimension of
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Question No. 17

An atom’s radius is 1019 . This equals,

= 10% 1 micro () 10° nano,
Im = 105 pum):

1 pm
0.1 pm
0.1 oam

1 nm




stion No. 17

atom's radius is 10"
10% jum)

pm
T ym
1 nm

nm

This

I micro (p)







